Anwendungsbeispiel Transport

-
O . 9
m v c 2
o o 2 2005
O (@)) 1 O T
= m = s
o & O © =
= % o

| -

S & O
Y S © T

- 0TLLT
- 00:TLT
- OV:v9T
- 07:8ST
- 00:ZST
- OWiSPT
- 0T:6€T
- 00:€ET
- 0%19ZT
- 02:02T
- 00:%TT
- Ov:L0T
- 0T:10T
- 00:S6
- 0v:88
- 0TC8
- 00:9L
- O%:69
- 07:€9
- 00:LS
- 0%'0S
- 0TvY
- 00:8€
- O%iTE

- 02:S¢C

- 0061

- oviTT
\ m - 0790
- 0000

168min

PCM-Folie 1x
33min 95min
Zeit J]mm:ss]
——1 Wicklung PCM 2 Wicklungen PCM

PCM-Folie 2x
Aullentemp.

ohne PCM

Luftpolsterfolie




